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Answer all questions. 

Section A (10 marks) 

Marks 

Section A: /10 

Section B: /8 

) Section C: 17 

Total.: /2� 

Parent's �igngt:t.Jre 

Questions 1 to 6 carry 1 mark each and questions 7 to 8 carry 2 marks each. 
For each question, four options are given. 
One of them is the correct answer. Make your choice (1, 2, 3 or 4) and write your answer in 
the bracket provided. 

1 Which of the following is
,,
sevemythousand�,��undred and ,fmt_y in numerals? 

? 
•• . . 

(1) 70 034
(2) 70 304
(3) 70 340
(4) 73 400

2 Arrange the following number from the largest to the .smallest. 

42182 

Largest 
(1) 42 281
(2) 42 281
(3) 41 822

(4) 41 822

42 281 4i 822 

Smallest 

41 822 42 182 
42 182 41 822 
42 182 42 281 
42 281 42 182 

) 

) 

1 

!Score
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. NAN HUA PRIMARY SCHOOL 
PRIMARY4 
MATHEMATICS 
2023 WA1, WA2 AND WA3 

 

SCHOOL 
LEVEL 
SUBJECT : 
TERM 

 

WA1 

Q1 3 Q2 2 

Q6 2 Q7 4 

09a 5800 -50 = 5750 

09b 5800 + 49 = 5849 

010 
4LI = 2400 
1LI = 600 

011 125 X 28 = 3500 

012 3 

80 X 2 = 160 
013 5LI = 2300 -160 = 2140 

1 LI = 2140 + 5 = $428 

014a 
7LI = 1064 
1 LI = 1064 + 7 = $152 

Q14b 12LI = 12 X $152 = $1824 

WA2 

Q1 3 Q2 

I
3 

Q6 1 Q7 4 

09a 8cm 

09b 90
° 

-70° 

= 20° 

Q10 

011 1
°

25x 28 = 3500 

Q3 4 Q4 

Q8 2 

03 3 

I
Q4 

Q8 3 

2 

I 1

Q5 4 

Q5 3 

Pg 1 

https://freetestpaper.com/


NAN HUA PRIMARY SCH OOL 
PRIMARY 4 
MAT HEMATICS 
2023 WA2 

SCHOOL 

LEVEL 
SUBJECT : 
TERM 

WA2 

I
01 

I
3 ··02

06 1 07

09a 8cm 

09b 90° - 70° = 20°

010 ( )"-� 
- -�s;:::!}k'.'.. -

011 125 X 28 = 3500 

012 Library 

3 

4 

013a 1 3 9 5 14 
3 + 5 = 15 + 15 = 15 kg

03 
08 

013b 14 3 9 14 8 
15 + 5 = 15 + 15 = 115 kg
5 1 5 3 2 
9 - 3 = 9 - 9 = 9 kg

014 2u = 600 
1u = 300 
9u = 300 x 9 = 2700 ml 

I
3 04 
3 

)I 1 I 05 3 

Pg 1 



NAN HUA PRIMARY SCHOOL 
PRIMARY4 
MATHEMATICS 
2023 WA3 

 

SCHOOL : 
LEVEL 
SUBJECT : 
TERM 

 

WA3 

Q1 4 Q2 3 Q3 3 Q4 

Q6 1 Q7 1 Q8 4 

Q9 
42 + 2 = 21 

21-6=15cm

18 X 2 = 36 

Q10 6 X 6 = 36 

Ans: 6 cm 

Q11 
4.56 -0.18 = 4.38 

4.38 + 3 = 1.46 m 

3.75x2=7.5 

Q12 0.9 X 2 = 1.8 

1.8 + 7.5 = $9.30 

5-2 = 3

Q13 132.5 -75.8 = 56.7

56.7 + 3 = $18.90

Q14a 
61.9 -28.9 = 33 

33 + 2 = $16.50 

15.9 X 2 = 31.8 

Q14b 31.8 + 12 = 43.8 

43.8 + 55 = $98.80 

4 Q5 2 

Pg 1 


